PROGRAMME OF WORK
SUBJECT — ECONOMICS - I PUC

MONHTS & PERIODS | REMARKS | SIGNATURE
PERIODS TOPICS TO BE COMPLETED ALLOTTED
AVAILABLE
PART- A-CHAPTER- 1: STATISTICS FOR ECONOMICS (04 Hrs)
JUNE L1 [ WHY 02
ECONONOMICS....CONSUMPTION,
PRODUCTION, AND DISTRIBUTION.
1.2 | STATISTTICS IN ECONOMICS
1.3 | WHAT IS STATISTICS? 02
1.4 | WHAT STATISTICS DOES?
15 | CONCLUSION
12 PERIODS
CHAPTER- 2: COLLECTION OF DATA (06 Hrs)
2.1 [ INTRODUCTION 01
2.2 | WHAT ARE THE SOURCES OF DATA
HOW DO WE COLLECT DATA....
2.3 | PREPARATION OF INSTRUMENT 02
MODE OF DATA COLLECTION.....
PIOT SURVEY
2.4 | CENSUS AND SAMPLE SURVEYS
25 | SAMPING & NON-SAMPLING ERRORS 03
2.6 | CENSUS OF INDIA & NSSO
2.7 | CONCLUSION
PART- B- INDIAN ECONOMIC DEVELOPMENMT
CHAPTER- 1: INDIAN ECONOMY ON THE EVE OF INDEPENDENCE-(06 Hrs)
1.1 [ INTRODUCTION
1.2 | LOW LEVEL OF ECONOMIC 01
DEVELOPMENT UNDER COLONIAL RULE
1.3 | AGRICULTURAL SECTOR
JULY 1.4 | INDUSTRIAL SECTOR 03
15 | FOREIGHN TRADE
1.6 | DEMOGRAPHIC CONDITION
1.7 | OCCUPATIONAL STRUCTURE 02
1.8 | INFRASTRUCTURE
1.9 | CONCLUSION
PART- B-CHAPTER- 2: INDIAN ECONOMY FROM 1950 TO 1990-(06 Hrs)
2.1 [ INTRODUCTION 01
2.2 | THE GOALS OF FIVE YEAR PLANS
2.3 | AGRICULTURE 02
24 | INDUSTRY & TRADE 02
25 | TRADE POLICY-IMPORT SUBSTITUTION 01
20 PERIODS - ™5 6 | CONCLUSION
PART- A- CHAPTER- 3 ORGANISATION OF DATA (06 Hrs
3.1 | INTRODUCTION
3.2 | RAWDATA 02
3.3 | CLASSIFICATIO OF DATA
3.4 | VARIABLES: CONTINUOUS & DESCRETE
3.5 | WHAT IS FREQUENCY DISTRIBUTION 04
3.6 | BIVARETE DISTRIBUTION
3.7 | CONCLUSION
PART- A- CHAPTER- 4 PRESENTATION OF DATA (09 Hrs
4.1 [ INTRODUCTION
4.2 | TEXTUAL PRESENTATION OF DATA 01

4.3

TABULAR PRESENTATION OF DATA

1




4.4 [ TABULAR PRESENTATION OF DATA & 01
PARTS OF TABLE
45 | DIAGRAMATIC PRESNTATION OF DATA 01
AUGUST 4.6 | DIGRAMATIC PRESENTATION 06
& CONTIUED.. CONCLUSION
SEPT.
PART- B-CHAPTER- 3: LIBERALISATION, PRIVATISATION & GLOBALISATION (08
Hrs)
3.1 | INTRODUCTION 01
3.2 | BACKGROUND
3.3 | LIBERALISATION 02
3.4 | PRIVATISATION 03
35 | GLOBALISATION
3.6 | INDIAN ECONOMY DURING REFORMS-
AN ASSESSMENT 02
3.7 | CONCLUSION
PART- B-CHAPTER- 4: POVERTY (08 Hrs)
4.1 [ INTRODUCTION 01
4.2 | WHO ARE THE POOR
4.3 | HOW ARET THE POOR PEOPLE 02
IDENTIFIED
4.4 | THE NUMBER OF POOR IN INDIA
45 | WHAT CAUSES POVERTY 02
4.6 | POLICIES & PROGRAMMES TOWARDS
4.7 | POVERTY ALLEVIATION
POVERTY ALLEVIATION PROGRAMMES- 03
A CRITICAL ASSESSMENT
4.8 | CONCLUSION
PART- A- CHAPTER- 5: MEASURES OF CENTRAL TENDENCY (10 Hrs)
5.1 | INTRODUCTION 04
5.2 | ARITHMETIC MEAN
53 | MEDIAN 03
54 | MODE
55 | RELATIVE POSITION OF ARITHMETIC
MEAN, ,MEDIAN & MODE 03
56 | CONCLUSION
35 PERIODS
PART- A- CHAPTER- 6: MEASURES OF DISPERSION _ (11HTrs)
6.1 | INTRODUCTION
6.2 | MEASURES BASED UPON SPREAD OF 03
VALUES
OCTOBER 6.3 | MEASURES OF DISPERSION FROM
AVERAGES
6.4 | STANDARD DEVIATION 05
6.5 | ABSOLUTE & RELATIVE MEASURES OF
DISPERSION
6.6 | LORENZ CURVE 03
6.7 | CONCLUSION
10 PERIODS PART- B-CHAPTER- 5: HUMAN CAPITAL FORMATION IN INDIA (08 Hrs)
51 | INTRODUCTION
NOV. 52 | WHAT IS HUMAN CAPITAL 03
& 5.3 | SOURCES OF HUMAN CAPITAL
DEC. 54 | HUMAN CAPITAL & HUMAN 03
DEVELOPMENT
55 | STATE OFHUMAN CAPITAL FORMATION
IN INDIA
56 | EDUCATION SECTOR IN INDIA




5.7 | FUTURE PROSPECTS | 02
5.8 | CONCLUSION

PART- B-CHAPTER- 6: RURAL DEVELOPMENT (07 Hrs)

6.1 | INTRODUCTION 01
6.2 | WHAT IS RURAL DEVELPOMENT

6.3 | CREDIT & MARKETING IN RURAL AREAS

6.4 | AGRICULTURAL MARKETING IN RURAL 02
AREAS

6.5 | DIVERSIFICATION IN TO PRODUCTIVE 03
ACTIVITIES

6.6 | SUSTAINABLE DEVELOPMENT &
ORGANIC FARMING 01

6.7 | CONCLUSION

PART- A- CHAPTER- 7: CORRELATION (07 Hrs)

7.1 | INTRODUCTION 01
7.2 | TYPES OF RELATIONSHIP

7.3 | TECHNIQUES OF MEASURING
CORREALATION 06
7.4 | CONCLUSION

PART- A- CHAPTER- 8: INDEX NUMBER (07 Hrs)

8.1 | INTRODUCTION
8.2 | WHAT IS AN INDEX NUMBER? 03
8.3 | CONSTRUCTION OF AN INDEX NUMBER

8.4 | SOME IMPORTANT INDEX NUMBERS
8.5 | ISSUES IN THE CONSTRUCTION OF
INDEX NUMBERS 04
8.6 | INDEX NUMBERS IN ECONOMICS
8.7 | CONCLSION

PART- B-CHAPTER- 7: EMPLOYMENT, GROWTH INFORMALISATION &
OTHER ISSUES (10 Hrs)

7.1 | INTRODUCTION 01
7.2 | WORKERS AND EMPLOYMENT
7.3 | PARTICIPATION OF PEOPLE IN 01
EMPLOYMENT
7.4 | SELF EMPLOYMENT & HIRED WORKERS 01
75 | EMPLOYMENT IN FIRMS, FACTORIES & 01
OFFICES
7.6 | GROWTH & CHANGING STRUCTURE OF
EMPLOYMENT
7.7 | INFORMALISATION OF INDIAN 03
WORKFORCE
7.8 | UNEMPLOYMENT
STPERIODS - = 0" GOVERNMENT & EMPLOYMENT
GENERATION 03
7.10 | CONCLUSION
JAN.
& PART- B-CHAPTER- 8: EMPLOYMENT, GROWTH INFORMALISATION &
FEB. OTHER ISSUES (09 Hrs)
8.1 | INTRODUCTION
8.2 | WHAT IS INFRASTRUCTURE 01
8.3 | RELEVANCE OF INFRASTRUCTURE
8.4 | THE STATE OF INFRASTRUCTURE IN 02
INDIA
85 | ENERGY 02
8.6 | HEALTH 04

8.7 | CONCLUSION




PART- A- CHAPTER- 9: USE OF STATISTICAL TOOS (03 Hrs)

9.1 | INTRODUCTION 01
9.2 | SUGGESTED LIST OF PROJECTS 01
9.3 | SAMPLE PROJECT 01

9.4 | CONCLUSION

PART- B-CHAPTER- 9: ENVIRONMENT AND SUSTAINABLE DEVELOPMENT (08 Hrs)

9.1 | INTRODUCTION

9.2 | ENVIRONMENT-DEFINITION & 02
FUNCTIONS
9.3 | STATE OF INDIA,S ENVIRONMENT 02
9.4 | SUSTAINABLE DEVELOPMENT 01
9.5 | STRATEGIES FOR SUSTAINABLE
DEVEOPMENT 03

9.6 | CONCLUSION

PART- B-CHAPTER-10: COMPARATIVE DEVELOPMENT EXPERIENCES OF INDIA &
ITS NEIGHBOURS (07 Hrs)

10.1 | INTRODUCTION

10.2 | DEVELOPMENT PATH A SNAPSHOT
VIEW 03
10.3 | DEMOGRAPHIC INDICATORS

10.4 | GROSS DOMESTIC PRODUCT & SECTORS

26 PERIODS | 10.5 | INDICATORS OF HUMAN DEVELOPMENT
10.6 | DEVELOPMENT STRATEGIES & AN 04
APPRAISAL

10.7 | CONCLUSION

TOTAL PERIODS

01 | PART-A-STATISTICS FOR ECONOMICS 63
02 | PART-B- INDIAN ECONOMIC 77
DEVELOPMENT
TOTAL PERIODS 140




Instructions

Following instructions are to be followed while preparing a Question Paper (for 100
Marks).

1. The Question Paper consists of 5 parts — Part A, Part B, Part C, Part D and Part E.
Part A
2. The Question Paper consists of Objective-type Questions as follows :
a) Multiple Choice Questions — two from Statistics for Economics and three from

IED. Total 5.

b) Fill in the blanks - two from Statistics for Economics and three from IED. Total
5.

¢) Match the following - two from Statistics for Economics and three from IED.
Total 5.

d) Questions to be answered in a word/sentence - two from Statistics for Economics
and three from IED. Total 5.

Part B

3. Questions to be answered in about 4 sentences — each question carries 2 marks.
6 from Statistics for Economics - any four should be answered

7 from IED - any five should be answered.
Part C

4. Questions to be answered in about 12 sentences — each question carries 4 marks.
5 from Statistics for Economics - any three should be answered

6 from IED - any four should be answered.
Part D.

5. Questions to be answered in about 20 sentences — each question carries 6 marks.
3 from Statistics for Economics - any two should be answered

3 from IED - any two should be answered.
Part E

6. Project-oriented Questions — each question carries 5 marks.
One from Statistics for Economics and Two from IED.
Any two should be answered
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Subject Code : 22 (NS)
MODEL QUESTION PAPER

ECONOMICS
Time : 3 Hours 15 minutes [Max. Marks : 100]
Instruction : /. Write the question numbers legibly in the margin.

2. Answer for a question should be continuous

PART - A

I. Choose the correct answer: 1x5=05
1) Scarcity is the root of

a) All economic problems b) Social problems

c) Political problems d) All problems
2) A histogramis a

a) one dimensional diagram b) two dimensional diagram

c) three dimensional diagram d) four dimensional diagram

3. In India census is carried out once in

a) 5 years b) 10 years
c) 1 year d) 2 years
4. Poverty line separates
a) Poor and nonpoor b) Rich and nonrich
c¢) Poor and weak d) none of the above

5. Workers who own and operate an enterprises to earn their livelihood is called

a) Ministers b) Public servant
c¢) self employees d) Government doctor
II. Fill in the blanks 1x5=05

6. Body of the table contains ............... .

7. Index numbers are expressed in .................. .

8. RBI regulates .................. sector.

9. Indian system of medicines includes ....................... systems.

10. Thermal power plants emit large quantities of ........................ .



ITII. Match the following 1x5=05

11. A B

1) Personal interview 1) A positive development

2) The series consisted only 2) A non-institutional source

one mode
3) Quota 3) More response
4) Better gender equity 4) Quantity of goods that
can be imported

5) Money lender 5) Uni mode

IV. Answer the following questions in a sentence / word. 1x5=05

12. What is dispersion?
13. Why do we need statistical tools?
14. Who introduced the great Proletarian Cultural Revolution?
15. What is seasonal unemployment?
16. What type of economic system is followed in Pakistan?
PART - B
V. Answer any four of the following questions in about four sentences each.
2x4=08
17. Write any two quality of a good questionnaire.
18. Differentiate between inclusive and exclusive method of classification.
19. How can you obtain frequency curve?
20. Calculate the value of the median from the following figures.
X:5791211871525.\
21. Give the meaning of two types of correlation.

22. Name the first four steps in developing a project.



VI

23.
24.
25.
26.
27.
28.
29.

VII.

30.
31.
32.

33.
34.

Answer any five of the following questions in about four sentences each.
2x5=10

What are the infrastructure facilities developed during colonial rule?

List the features of poorest households.

What are the various forms of health expenditure?

Give the meaning of rural development.

Who are all included in labour force?

How does infrastructure help the modern economy?

Mention any four strategies to achieve sustainable development.

PART - C

Answer any three of the following questions in about twelve sentences each.
4x3=12

Briefly explain how statistics helps to study economics.

Do samples provide better results from the survey. Give reason for your answer.

Draw scatter diagram and conclude about correlation.

X 10 20 30 40 50 60 70 80
Y 25 20 25 35 40 35 50 45

Write a note on classification of data.

The yield of wheat per acre for ten districts of a state is as under.

District |1 2 3 4 5 6 7 8 9 10
Rice 22 (29 (12 (23 [18 [15 |12 |34 |18 |12

Calculate quartile deviation (Q. D)




VIII. Answer any four of the following questions in about twelve sentences each.
4%x4=16
35. Explain the demographic profile of India during colonial period.
36. Write a short note on land reforms in India.
37. Agriculture sector appears to be adversely affected by reform. Why?
38. Write a short note on alternative markets.
39. Explain the state of health infrastructure in India.
40. What are the various indicators of human development?
PART -D

IX. Answer any two of the following questions in about twenty sentences each.

6x2=12
41. What is component bar diagram? Draw a component bar diagram with the help of the
following table
Enrolment by gender at schools (in percentage) of children aged 6-14 years in a dis-
trict of Bihar.
Gender Enrolled (in %) Drop-outs
Boy 91.5 8.5
Girl 58.6 41.4
All 78.0 22.0

42. Calculate Q,, Q, and Q, from the following data :
22,26, 14,130, 18, 11, 35,41, 12, 32.

43. The yield of rice per acre for ten districts of a state is as under.

District 1 (2 |3 (4 |5 [6 |7 [8 |9 |10
Rice 22 129 |12 |23 |18 |15 |12 |34 |18 |12

Calculate standard deviation and co-efficient variation.



44,
45.

46.

XI.

47.

48.

49.

. Answer any two of the following questions in about twenty sentences each.

6x2=12
Explain the important areas of liberalisation.

Explain the need for acquiring information relating to health and education expendi-
ture.

What do you mean by organised sector? Discuss the reasons for fall in employment
in the organised sector.

PART - E
Answer any two of the following project oriented questions.
5x2=10

Record the daily expenditure, quantities bought and price paid per unit of the daily
purchases of your family for two weeks. (such as rice, toor dal, tomato, onions and
milk). How has the price change affected your family?

Suppose you are a resident of a village. Suggest a few measures to tackle the problem
of poverty.

Identify and prepare the list of reasons responsible for the land degradation in your
locality.
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MODEL QUESTION PAPER
ECONOMICS
(Kannada Version)
Time : 3 Hours 15 minutes [Max. Marks : 100]
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